BARANST TTT

PIER %2100
1 1273 853 1
, /
~ - - -
LN
O
# Al o
= AR 28% R 28~ | < 2
0
=4
AMREOmO
959
2160
T
2170
5 2160 5
LN
O
= =
S =
VGL 7 ]
[ce}
LN
1F@EE
BRI 2170
o 13 HRO T 2144 13
= g
. - _ _ _
m \ FUA-E
M107 > 73— RJU b (MBRSD) m
= 3
E
i _ _ - _ 2N
R@
m| 825 1979 825
(@]
NFIEREH |

BRSNS TTT

oE | BREB 7 (M) Bmm
1 -2 F12 1.2+1.0
2 | X—2ATF# F12 1.2+1.0
3 | R F12 0.6
Lo | BEXZRIV F12 0.5
5 | BR F12 0.6
6 | B F12 0.6
T | &SR F12 0.6
8 | #iR (5t4%0 F12 0.6

F12-BrdEEscs o iR (JIS G 3302)

XA — EEEEHE : 32mm

BiR
5 I
\I |
g | =E
= s 5
1"@ g ON
X x
& £3
X\
AR g
N— 2 M
NN §¥£§
Y% Y%
Wi i &

7 o —EBEEA
4 VG.L

7 V2

X AR OMMRITARICEYET,

177
15 750 12
o
-
=
n -
z e 2
N
=
jr
i X
BARYNT 2170
o 13 24 13
S —
m
LN | CB | m
= \ \ NS
- =
1N 9
,,,,,,, o  B@ 3
m 1259 m

J0v OEEEY

T 5 X

NO.149 <HER> s=1

HIELA

MJN—217E

/30

OB $BIO %959 x 1748 (mm)  OFKEE:1.62m(0.491T)

w 2% FE 3E B (E PR




